A[MXEy F]

(X THRREFICOZAHIEDHT Oy 7 1T)

¥

L

o
1
\

~

C b
=| >
B
J/—X SK-4 KF4 SCM435
@ A% 1A%
#507% No. A B/b c D Fo 27T kah
Min/Max
SP — 12 — 10H M12 X 1.75 43/35 100 | 55 4.0 0.7/4.0
sp—LI—-LIH SP — 16 — 10HS 50/35 10.0 2.0/10.0
SP —[J—[JHs SP — 16 — 10H 60/35 10.0 2.7/8.0
IS59u - SP — 16 — 15H M16 X 2.0 150 | 80 5.0 1.5/8.0
(BRER) SP —16 — 20H 85/35 20.0 1.7/8.0
SP — 16 — 30H 125/35 30.0 2.0/8.0
SP — 24 — 15H M24 X 3.0 60/45 150 | 100 | 80 4.0/20.0
SP — 30 — 20H M30 X 3.5 70/45 200 | 150 | 12.0 5.0/30.0
SP—12—10L M12 X 1.75 43/35 100 | 55 4.0 0.4/2.0
SP—16 — 10LS 50/35 10.0 1.0/5.0
sp—[J—-0JL SP— 16 — 10L 10.0 1.3/4.0
SP —[J—[]LS SP —16 — 15L M16 X 2.0 60/35 15.0 8.0 5.0 1.0/4.0
SN—J = SP — 16 — 20L 20.0 1.3/4.0
(EHER) SP — 16 — 30L 125/35 30.0 1.8/4.0
SP — 24 — 15L M24 X 3.0 60/45 150 | 100 | 80 2.0/10.0
SP — 30 — 20L M30 X 3.5 70/45 200 | 150 | 12.0 2.0/15.0

Order
FESLHI

] SP — 16 — 30L

HEA

Delivery

22BN

370

BolEE N V7 AY,



